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QUIZ MASTER

Grand Quiz(MTH101)

100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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MTH101:Grand Quiz

Question # 1 of 30 { Start time: 12:56:07 AM, 30 December 2020 )

d 100 _ V
Select the correct option 6
~100z" @e

O

100 99

—100£'"

—100g M
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MTH101:Grand Quiz

Question # 2 of 30 ( Start time: 12:56:27 AM. 30 December 2020 )

In order to find the area under a curve we approximate the area by using

Select the comect option V

RHectangles
ko d

Circles %6
0 N
o Hexagons Q%

Mone of these
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MTH101:Grand Quiz Quiz Start Time: 12:56 AM. 30 Decembel
Question # 3 of 30 ( Start time: 12:57:05 AM. 30 December 2020 ) Total M:

The point slope form of the equation of tangent line at the point (z,,71) is

Select the correct option V © Reload Math Equat]

Yy =mz+c

O 0(9
AS
O Q>

y— iy =mz — )
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MTH101:Grand Quiz

Question # 4 of 30 { Start time: 12:57:33 AM. 30 December 2020 )

If(x approaches to 2) lim 3x-5=1. In this statement the limiting value of 3x-5is ...

Select the correct option ;‘

| O
;0
b d
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MTH101:Grand Quiz Quiz Start Time

Question # 5 of 30 ( Start time: 12:57-46 AM. 30 December 2020 )

The derivative of (sin(cosz)) s .. ....ociiiion..

Select the correct option V

cos(cos x)

O 0(9

x@ cos(sin )
N\

o — sin(cos z). sin =
- —cos(cos z).sinx
(]
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MTH101:Grand Quiz

Question # 6 of 30 { Start time: 12:58:43 AM. 30 December 2020 )
Which of the following point satisfies the equation: 2x + Sy = 157

o

Select the comect option
(1.3

° D
s Qg\’

(2.5)

4.2}
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MTH101:Grand Quiz

Question # 7 of 30 { Start time: 12:59:06 AM, 30 December 2020)

Which of the following is not an example of set?

X

Select the correct option
Collection of prim which are even.
Collec ors in rainbow.
Collection of some stars in the sky.
[
)
Collection of whole numbers between 20 and 25.
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MTH101:Grand Quiz Quiz Start Tir

Question # & of 30 { Start ime: 12:59:21 AM. 30 December 2020 )

Graph of the equation y = x + 3 representsa............

Select the correct option V

O Cirle 6

Line

Parabola %

Mone of these
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MTH101:Grand Quiz

Question # 9 of 30 ( Start time: 12:59:40 AM. 30 December 2020 )

Which of the following is an example of set?

Select the comrect option
Collection of good student in a class.
Collection of planets in our solar system. ‘%
[
b

Collection of time.

O (\,®

Collection of tempegllr

o R

P A A AL AL AT A A A A e e e el el el o all el e N ol ol ol ol o o o o o o o o o o ol o o e o e
T T e T T T T T e e e T T2 T T T T T T T S T Ve Ve S 20 20 Y20 M Vo W e 2 2 e R P P % %0 % B R 9

PPPPLLLLLLLLLL LSS LSS LSS LSS LSS LSS LSS LS LSS LLLS PSSP PP



\\\\\\\\\\N\\\\\\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘>

MTH101:Grand Quiz

Question # 10 of 30 { Start time: 12:59:52 AM. 30 December 2020 )

Graphically the function y=c represents line.

v}/

Select the correct option

Honzontal é
!
b d \

Wertical
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MTH101:Grand Quiz Quiz Start Time: -

Question # 11 of 30 ( Start time: 01:01:03 AM. 30 December 2020 )

If f(z) =50cos x, then f'(z)atx = % will be

Select the correct option I
-50 ¥
r b

-25

-90
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2 MTH101:Grand Quiz Quiz Start Time: 12:56 AM, 30 December : 5
§ Question # 12 of 30 ( Start time: 01:01:23 AM. 30 December 2020 ) Total Mar 5
S 4
2 Which of the following is x — intercept of a pambo@resented by the equation :y= o+ 2 5
S 4
S P4
2 Select the correct option 5
2: 0and -2 $
S ® 0 2
S 4
z land 2 $
bs O <\/ 2
: Q :
‘:\ 0 only 5
Q

$ S 2
Q <
g 1 only 5:
Q O <
Q <
Q 14
Q 14
Q 14
Q 14
Q 14
Q 4
Q 4
QS <
QS <
QS <
QS <
QS <
> ' 4
NP PP L PP LL PSS LSS LS LSS LSS LS LSS PSS LSS LS PSSSS LS PSSSSS



\\\\\\\\\\N\\\\N\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘V>

MTH101:Grand Quiz Quiz 5

Question # 13 of 30 ( Start time: 01:01:41 AM. 30 December 2020 )

Let R and S be reflexive relations on a set A then

N ot

Select the correct option

R union 3 is reflexive

O

R inter 5 reflexve

Both R union 5 and R intersection 5 are reflexive

@
b

Meither B union S is reflexave nor B intersection S is reflexive
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MTH101:Grand Quiz Qur

Question # 14 of 30 ( Start time: 01:01:57 AM, 20 December 2020 )

Is the function f{x)}= €"(Inx) continuous at x=0 ? If not. why?

N3

Select the correct option

fis continuous atx =

&

f(0) is not defined.

b _d
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MTH101:Grand Quiz

Question # 15 of 30 ( Start time: 01:02:12 AM. 30 December 2020 )
Slope of secant line joining points (1.1) and (3.4) is .

Select the comect option I % é

1

O 0(9
’\/é
N

Mone of these

O
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MTH101:Grand Quiz Quiz Stz

Question # 16 of 30 ( Start time: 01:02:26 AM. 30 December 2020 )

d
Ifw=sinrandz =t then .

dt

Select the correct option

V
- ‘z\v. ~ cost

R
0

CO5 I

cost
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MTH101:Grand Quiz

Question # 17 of 30 { Start time: 01:02:42 AM. 30 December 2020 )

The function f{x) = [ is differentiable in the interval (-infimity, 0).

Select the correct option

True

@o‘°

False
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MTH101:Grand Quiz

Question # 18 of 30 ( Start time: 01:02:58 AM, 30 December 202C

of domain could have in range.

Select the correct option i

An element | two imag
An eeﬁe

Manélements . No Image

Many elements .,  same image
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MTH101:Grand Quiz Q

Question # 19 of 30 ( Start time: 01:03:16 AM, 30 December 2020 )
If

flz) =42 + 2z
. then which of the following is true about it.

Select the correct option

Its derivative with respect to x is 3x.

Its derivative with respectto xis 3x + 2. é

Its derivative with respect to x is

O

O

Mone of these.
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MTH101:Grand Quiz

Question # 20 of 30 ( Start time: 07:03:25 AM. 20 Dece

What is the derivative of bsin(x)- 2cos(x)?

v}/

Select the correct option

Beos(x)-2in(x)
O @
Bal '%{x
o Q’\

Bcos(x)+2sin(x)

Mone of these
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MTH101:Grand Quiz

Question # 21 of 30 ( Start time: 01:03:42 AM. 30 December 21

0121212 is an example of

Select the comect option
Integers
N bers

Rational numbers

b _d

Irrational numbers
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MTH101:Grand Quiz

Question # 22 of 30 ( Start time: 01:04:03 AM, 20 December 2020 )

The derivative of (10x sinx) is .

\Y;

Select the correct option
100 simec+xcosx))
|-
sinx-10xcosx
'IDSHXKC%QN
10sine+10cosx
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MTH101:Grand Quiz Cluiz Start Time: 12:56 AM. :

Question # 23 of 30 ( Start time: 01:04:18 AM., 30 December 2020 )

Which of the followings is derivative of f(z) = 4z ?

Select the correct option V

o 6 fl(z) =122
® f'(z) = 1227
0 f'(z) =2

O f'(z) = 122
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MTH101:Grand Quiz

Question # 24 of 30 ( Start time: 01:04:38 AM. 30 December 2020 )

The area A of a circle depends on its

V

Select the correct option

O Center 0

Circumference

O

Dia

O

Radius

b _d
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MTH101:Grand Quiz Quiz Start T

Question # 25 of 30 ( Start time: 01:04:57 AM. 30 December 2020 )
The equation of tangent line at the point P(2.3) to the curve y = 3 x"2 having slope 12 is )

Select the comect option V

y-12x+21=0

[ ]
b d

y+12x+21=0

y-12x-21=0 Q%t

Mone of these.
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MTH101:Grand Quiz

Question # 26 of 30 ( Start time: 01:05:07 AM. 320 December 2020 )

The Graph of equation of a . . . . does not represent a function.

Select the correct option i

Circle 0
Line %
> J

Parabola %\

Mone of these
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MTH101:Grand Quiz Quiz Start Time: 12:56 AN

Question # 27 of 30 ( Start time: 01:05:21 AM. 30 December 2020 )

Value of x at which the derivatives of bath functions f (z) = sinz and g (z) = cosz are equal. is

(note: m = 180 degrees)

Select the correct option m

o K

O 0% 1
,\,é
o) Q§ 1

P A A AL AL AT A A A A e e e el el el o all el e N ol ol ol ol o o o o o o o o o o ol o o e o e
T T e T T T T T e e e T T2 T T T T T T T S T Ve Ve S 20 20 Y20 M Vo W e 2 2 e R P P % %0 % B R 9

PPPPLLLLLLLLLL LSS LSS LSS LSS LSS LSS LSS LS LSS LLLS PSSP PP



\\\\\\\\\\N\\\\\\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘>

MTH101:Grand Quiz

Question # 28 of 30 ( Start time: 01:05:39 AM. 30 December 2020 )
e (epsilon) used in the definition of limit can be a n%numh&r.

N3

Select the correct option
True @

False

P A A AL AL AT A A A A e e e el el el o all el e N ol ol ol ol o o o o o o o o o o ol o o e o e
T T e T T T T T e e e T T2 T T T T T T T S T Ve Ve S 20 20 Y20 M Vo W e 2 2 e R P P % %0 % B R 9

PPPPLLLLLLLLLL LSS LSS LSS LSS LSS LSS LSS LS LSS LLLS PSSP PP



\\\\\\\\\\N\\\\\\‘\‘\‘\‘\‘\‘\\‘\‘\\‘\‘\\\\\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘V>

MTH101:Grand Quiz

Question # 29 of 30 ( Start time: 01:05:49 AM, 30 December 2020 )

If glu}=5u+3then its denvative with respectto 'u’ is

\Y

Select the correct option
5

@
o v
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2 MTH101:Grand Quiz Quiz Start Time: 12:56 AM, 30 December 5
§ Question # 30 of 30 ( Start time: 01:06:03 AM. 20 December 2020 ) Total Mar 5
S P4
2 Which of the following is VERTEX ofparab%@resented by the eguation:y= z® + 2 5
S P4
S P4
2 Select the correct option % 5
S (1.3) 6 P4
3 0 O ¢
S P4
D (2. 6) e
2 O ’\/ 5
Q ¢
S 0.2) 4
S ™ 5
$ 9 2
$ 2
$ 2
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